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SINO TNPSC GROUP II QUESTION SIA TEST BATCH QUESTION
1. Who started Home Rule Movement in | In 1916, Annie Besant started the Home
India? Rule Leagufe in India on the pattern of the
movement in
A) Annie Besant B) Sathiya Moorthi A) France B) Russia
C) E.V. Ramasamy D) K.Kamaraj C) USA D) Ireland
Mock Test 1. Question No 193
2. The Portuguese Sailor who reached | Match List I with ListII :

Calicut in 1498 A.D. was?
A) De Almeida
C) Robert Clive

B) Vasco da Gama

D) Albuquerque

List I List II
a) Vascodagama’s second
time arrival to India 1. 1505
b) Pedro Alvarez Cabral
arrival to India 2. 1500

c) Appointment of Alfonso
Albuquerque as the

Governor in India 3. 1498
d) Appointment of
Francisco de Almeida
as the Governor in
India 4. 1502
5. 1509
Codes:
a b c d
A 4 2 5 1
B 2 3 1 5
C) 3 4 5 1
D) 1 2 4 5
Explanation:

The Portuguese traveller Vasco da




Gama reached the port of Calicut on
17 May 1498, for the first time in
India from Europe by sea voyage.

Test 9. Question No 1

Where was the first Indian National
Congress met?
A) Delhi

C) Calcutta

B) Bombay
D) Madras

Who moved the first resolution in the first
session of the Indian National Congress that
was held in Bombay in 1885?

A) W.C. Banerjee

B) Vijayaraghavachari

C) G.Subramania lyer

D) Rajaji

Test 13. Question No 85

The Forward Block Party was started by
whom?

A) Subhash Chandra Bose

B) Motilal Nehru

C) Rajaji

D) Raja Ram Mohan Roy

Find out the incorrectly matched pair.

(Organisation) (Founder)
A) Indian Independence - Rash Bihari Bose
League
B) The Forward - Subash Chandra
Bloc Party Boss
C) Samaj Samata - Mahatma Phule
Sangh
D)Santhiniketan - Rabindranath
Tagore

Test 12. Question No 13

In which year Madras Mahajana Sabha
was started?
A) 1881
C) 1883

B) 1882
D) 1884

Find out the incorrectly matched pair.

(Organisation) (Founder)
A) The Madras Native - Lakshmi Narasu
Association Chetty
B) The Madras Hindu
Social Reforms - Veresalingam
Association Pantulu

C) The Madras - P.Anandacharlu
Mahajana Sabha

D) The Madras
Dravidian
Association

<+ Explanation :

In 1884, the Madras Mahajana Sabha was

established by P. Anandacharlu and P.

Rangaiya Naidu.
Test 13. Question No 6

- Periyar

Annamalai University was started in the

year :
A) 1915 B) 1929
C) 1921 D) 1945

Match List-I with List-II

List-I List-II
(University) (Founded year)
a) Andhra University 1. 1857




b) University of Madras 2. 1926

¢) Tamil University 3. 1929
d) Annamalai University 4. 1981
Codes:
a b c¢c d
A) 21 4 3
B) 2 4 1 3
C) 3 4 1 2
D) 3 1 4 2

Test 13. Question No 10

Which Act provided Provincial Autonomy

to India?

A) Rowlatt Act — 1919

B) Minto-Morley Reform Act — 1909

C) The Government of India Act -
1935

D) Montagu-Chelmsford Reform Act
1919

Which of the following Act introduced
autonomy in Madras Province during the
British rule?

A) The Government of India Act of 1937

B) The Government of India Act of 1935
C) The Government of India Act of 1919

D) The Government of India Act of 1858

Test 13. Question No 8

Whom of the following was the Chief
Organiser of the Revolt of 1857 in Bihar?
A) Amar Singh B) Kunwar Singh
C) Pir Ali D) Imaduddin

Find out the correctly matched pair.

[. Zamindar of -  Kunwar
Jagdishpur Singh
II. Ruler of Kanpur - Tantia Tope
[II. Ruler of Jhansi - Gangadhar Rao
IV.Rebel leader in - Mangal
Meerut Pandey
Codes :

A) T and II only
C) I and III only

Explanation:

B) I and III only
D) II and IV only

Kunwar Singh, a ruined and
discontented zamindar of Jagdishpur
near Oudh,was the chief organiser of the
revolt in Bihar

Test 10. Question No 99

Which one of the following is the
correct composition of Brass?

A) Cu-50% ; Sn - 50%

B) Cu - 60% ; Zn - 40%

C)Zn - 70% ; Sn - 30%

D) Fe - 40% ; Ni - 60%
F1p&HenTLaunmlev Lilgsemerullesr &ifluwimest

2 BT daHevenauuileit FHaTSHLD 6T6dT6or !

A) Cu-50% ; Sn - 50%

Which one of the following alloys
contains lead?

A) Duralumin B) Brass

C) Bronze D) Solder

F1HHTL 6THH 2_CeVrsd Heveweu &Tif D CFihg
HEVENEUILITELD?

A) quyrends B) ggemen

C) ©)61633TSH6VID D) GamevL_ir

Explanation:




B) Cu - 60% ; Zn - 40%
C) Zn - 70% ; Sn - 30%
D) Fe - 40% ; Ni - 60%

X/
X4

% Duralumin - Al - 95% mg = 0.5%
Mn - 0.5% cu = 4%

% Brass - Cu = 60 to 80%
Zn = 40 to 20%
+ Bronze - Cu - 80% Sn = 18%
Zn - 2%
+ Fuse metal or solder - Pb = 50%
Sn - 50%

Test 23. Question no 163

10.

What is phototropism?

A) Movement of plants towards
chemicals

B) Movement of plants towards
light

C) Movement of plants towards soil

D) Response of plants for day length

Gurl_GLri_griiferib 6T6TMT6L 6T6dT6T

A) Qs seflsir Gaug Qurmsit Gprdsu

[OTEEA

B) Gs1qseflsir spefl Gprasdlu @uisaio

C) QF1g sefler et CHrabdl B)uidhsio

D) Qg sefisir gofl srevsg eflevst

Consider the following statements:
Assertion (A) : Stem of a plant is
positively phototrophic

Reason (R) : The tendency of plant to
grow away from direction
of sunlight is positive
phototropism.

Codes:

A) Both A and R are true and R is the
correct explanation of A

B) Both A and R are correct, but R is not
the correct explanation of (A)

C) A is true, but R is false

D) A is false, but R is true

F1HHENTL FonDEWD &H6U6wTdHaLD.

smpm (A) D sraursdlar  saw®  Gpi  gefls

FTTLNFe| OB TR 5.

& TTSvTLD (R) D eflw peflls  grewriedleit  FSlewss G

THITTS STeUrLD QuaTT6UG) Gmir

spafllF FrirLenFe e iLI(HID.

@DlufHs6re

A) (A) LHmID (R) @rewt@id  Ffl, Gogyiid (R)
6T6ITLIG) (A) allh@ Fflwreralards:ib

B) (A) wppir (R) Greaweio of, Gwsio (R)
6T6ITLIG) (A) allh@ Fflwrer allardsswsve.

C) (A) Fifl, oyesTmed (R) SHaUm|

D) (A) soupi wpmi (R) s

Explanation:

Phototrophism

The tendency of plant parts to grow
either towards or away from the direction




of sunlight is called phototrophism.

< Stem grow towards sunlight, so it is
positively  phototrophic, @ whereas,
Roots grow away from sunlight. So,
root is negatively phototrophic.

Test 5. Question no 29

11.

Humboldt ocean current is otherwise
known as

A) Kuroshio current

B) Oyashio current

C) Peru current

D) Florida current
anGumevl FErmL L b (B)sieurmmraeyLb
PGS STDS).

A) @Crrafwr FGrmLL b

B) gwredGuir $Grm i

C) Q@ FErmL_L LD

D) yGermlmr FGrmiL b

Along which desert region, Humbolt
current runs parallely?

A) Majove desert
B) Atacama desert
C) Kalahari desert
D) Sahara desert
hS  LITEHEVAIEDILI

LGHEG  Demewwns
anwGureol BCrTL1b O FngI?

A) QorgorGeu LITEMEVELEHTLD

B) o L_Garior Limreneveesiid

C) sevamnifl LTeneveuesTLD

D) #anrrm umeneveuertLd

The Mojave Desert is an arid rain-
shadow desert and the driest desert in
North Located in the

southwestern United States primarily

America.

within South Eastern California and

South Nevada.

% Sahara Desert is a world"s largest
desert located in the Northern part of
Africa.

% Canaries current borders the Sahara
Desert.

Desert is the hot desert

located in the Botswana country of

< Kalahari

Africa continent.

% Atacama Desert is the world"s driest
desert located in the Chile, south

% American country of Andes region.
Peru Current (or) Humboldt Current
Borders the Atacama Desert.

Test 1. Question no 147




12. India’s first bio-fuel flight was India’s first biofuel flight, Spice jet,
operated between undertook its maiden voyage on 27th
A) Dehradun to Delhi August 2018 from Dehradun to
B) Dehradum to Kolkatta A) New Delhi
C) Dehradun to Mumbai B) Chennai
D) Dehradum to Chennai C) Mumbai
@pswrallsit a0 o uilfl - eTAGLT®HsT eilwmreTid D) Kolkata
@eual( paThISEREEmL G Gussiiul L s, 2 uilfl  eflQOur@Bener LweTLGSSH QuikiEb
A) GLyr@sir - GLsved wseo Qidlw ellorerwrer - evenuev Glagl
B) GLyr@sir - apioswus (Spice jet) - gymev@® 27, 2018 et Sewrg
C) GLr@sr - Asrevmsbsr wseoreug uwewmsems  CLrm@Besfled® bl
D) GLyr@sir - Qassrener eueny Com Gl&TevsTLg).
A) Ug) Heves)
B) Glgetrement
C) wpewu
D) Qanevsssn
State Level Mock Test
Question no 191
13. Which of the following policy brings Which among the following scheme is
S lakh acres under organic farming? | launched by Government of India to
A) Shyama Prasad Mukherji Rurban | support and promote Organic farming?
Mission A) National Agriculture Market

B) Pramaparagat Krishi Vikas B) Rashtriya Gokul Mission
Yojana C) Soil Health Card

C) Pradhan Mantri Krishi Sichai D) Paramparagat Krishi Vikas Yojana
Yojana FpSHEHTLsuhHmieT @whens Ceusrressrenioullensar

D) PM Fasal Bima Yojana pfissad eabsiu@ssald Gbsu Srsrhiessred

£ 2 6irer 6185061% TeiTemar 5 e g THSBIT [BleV kIS em 6T SIoMbSILCL S b erg) P

S e L A) Capflw CauarrenT Fhews

A) QGWITLOT LITFTS (PSHTes) eHTLIGT Lilergedr B) A G S

B) uriwrures shad eilsrev Guirsgerr C) i avar opi"omi-

C) virsrsmopsh sfaf agdsvmis D) uriburrss Awefl alsrev gt i

Guirgevrm
D) uressd Sior Guirsper.stid. Test 14. Question no 21
14. Which of the following is sensitive to | Identify the correct statements from the

ultrasonic waves?

A) Man B) Bat

C) Bird D) Fish

GapemT sp60lew il 2G0T (HLD HETEDLD WIT(H & 26T !
A) Lo6vflg 657 B) Gleuaraumsv

C) Lume»e D) L86tT

following
I. Human Hearing Range = 20Hz to
20,000 Hz

II. Infrasonic Sound = Less than 20Hz

[II. Ultrasonic Sound = greater than 20
Kilo Hertz

Codes:




A) T only B) III only
C) I and II only D) All of the above
FHeTL aurdhdlwnbisaflledphg Fhlwurareupenn Cspiey

O&Fi1s.
I. wesflgesr Qaailujswnri Fpesr = 20Hz (LpSH6V
20,000 Hz

II. smpReured = 20HZ & geopairer
596015 61T

III . 8Qwred = 20 HGer Gamit sivever el
O BIFHLOTET §p601F6iT.

GDPIuF s

A) T v @i B) III wr @
C) I LoMHmILD II " (Hib D) S| EWEUT S 5] LD
Explanation:

«» All are correct statements.
¢ Infrasonic sounds: Earthquake
Waves, Tsunami waves.

+ Ultrasonic Sounds: Bat, Dolphin

Test 3. Question no 159

&

Kuhne’s tube can demon state the
process of :

A) Fermentation

B) Germination of seeds

C) Growth of plants

D) Aerobic respiration

@SSV G TS Blaspewen BlepLildEn?

A) Oprdsse

B) alleng ppemengzed

)
) STeUT eueTiFs
)

g Q

SHTHMIEHL_W F6uTF dd60

Match the following

List-I List-II
a) Rate of growth 1. Heliotrophic
of plant chamber
b) Size of Stomata 2. Auxano meter

c) Demonstrate

phototropism 3. Kuhne’s tube
d) Rate of respiration 4. Poromoter
e) Liberation of

carbondioxide due

to fermentation

process 5. Respirometer
Codes:
a b ¢ d e
A) 2 4 1 S 3
B)1 2 3 4 5
c) 2 3 1 4 5
D)1 4 3 2 5
QUIT(HSH 5.
ul'_l.c,_u_ls'v-l Lu'_Lq_ms’o-II
a) Sreur euerigSuilesr 1. oyl Guir_Grmiilds

EYEAEAT) LG




b) 3wV 51w 6T il 2.
Sy
C) speflFlenad Friry

D &HeVGeTT LI LT

QFILpe»D
afloTdaib 3. st GBeweu
d) F6U TS g 360]607

ol s 4.

e) QBralSsHedsr GLmg)

CumrGrmrGomi_L_i

CO2 QaeN@uphmin S. Qrew@rm B i
GPIuF s o
a b ¢ d e
A) 2 4 1 5 3
B) 1 2 3 4 5
C) 2 3 1 4 5
D) 1 4 3 2 5
1

Test 22. Question no 3

16.

Name the dam constructed across the
River Sutle;j?

A) Hirakud dam

B) Bakra Nangal dam

C) Kosi dam

D) Mettur dam

Fl g 9nMleT GMIsEs &L L L1l (HsiTer ojemewtuilsst
@Lwi eTedTEwT?

A) anflrT@L. jemesT

B) LSTT = BHIS6D 6»6vuT

C) Cardl gjsment

D) Gl @i jemewt

Match List-I with List-II

List-I List-II
(River) (Dam)
a) Krishna 1. Govind Sagar
b) Kaveri 2. Nizam Sagar
c) Godavari 3. Krishnaraja Sagar
d) Sutlyj 4. Nagarjuna Sagar
Codes:
a b ¢ d
A) 4 3 2 1
B) 31 2 4
¢ 2 4 1 3
D)1 4 2 3
ulgwe - I, ulgwe - Il o et QuUIrmssIs.
U iquiev - I L 1q w6y — II
(a6 (Spewemrsssir)
a) Hpegewrm 1. Garelis srsi
b) sr@suf 2. B srai
C) Gasramreu 3. Awegent rrey FrHi
d) FLeVgn 4. BTHTTTOSTT FTaHT
GPuF@s6
a b c¢ d
A 4 3 2 1
B 3 1 2 4
c) 2 4 1 3




D)1 4 2 3

Ans: A

% Gobind Sagar - is a man made

reservoir situated in Bilaspur district,

Himachal Pradesh. Formed by the

Bhakra Dam on the Sutlej river.

Nizam Sagar — Constructed across the

Manjira river a tributary of the

Godavari river - oldest dam in the

state of Telangana.

% Krishna raja Sagar - gravity dam,
situated below the confluent of river
Kaveri with its tributaries Hemavati

and Lakshma Tirta at Mandya.

3

A

s Nagarjuna sagar — Built - Krishna
river, between Nalgonda and Guntur
district.

Test 15. Question no 58

17.

Black revolution is related to :

A) Fish production
B) Coal production
C) Crude oil production
D) Mustard production
HHEWL Il F @) eIl 6T QB TL_TLjew L]
A) it o pLsd)
B) pevisi o puss
C) séar sram@antis o piigd)
)

D) 566 2 pusd

Match the following:

List I List- II
(Revolution) (Product)
a) Brown 1) Fertiliser
b) Yellow 2) Leather
c) Black 3) Petroleum
d) Grey 4) Oil Seeds
Codes:

a b c¢ d
A) 2 3 4 1
B) 2 4 3 1
C) 3 2 4 1

D)2 3 1 4
FCY srenTUMMHe»MLI CLIT(HSSHI%5.

ucgued - I ucgweo - II:

(L,U'l'_cﬂ) (aﬂmm@un’@sir)
a) gLy 1) D JHISET
b) wepser 2) Gared QUL ser
C) & (HLIL 3) G Grmredluib
d) srous 4) sremQenis aflgs
@Duf Q&6

a b ¢ d

A) 2 3 4 1
B) 2 4 3 1
Q) 3 2 4 1




D) 2 3 1 4
Explanation: (B)

R
0’0

Yellow revolution- Oil seeds
Black revolution- Petroleum
Brown revolution- Leather
Grey revolution- Fertilisers

R &
L X X4

&
°

Test 14. Question no 142

18. Which of the following scheme has | What is the main objective of Pradhan
the objective to skill 1 crore youth in | Mantri Kaushal Vikas Yojana (PMKVY)?
the next three years? A) To achieve universal household
A) Start up, stand up electrification throughout India.

B) PM Kaushal Vikas Yojana B) To provide job for all unemployed
C) MNREGA youths throughout India.
D) Deen Dayal Upadhyaay Grameen | C) To enable large number of Indian
Kaushalya Yojana youth to take up industry relevant
Herai@id smhs A1 55 ol HYemEseflsd skill training that will help then in
oo @g;m j@?’m@maﬂm Apr Guiburtypars securing a better livelihood.
2 (heurdsLiLl L g7
A) sioL i sysio st o)t D) To achieve 100% open defecation free
SYUl_mTI_@,LISYUI_fTSOTI_@{LI, .
B) LNGsemFeL el mery Guirenesri .6TLD. India
C o o125 (8) oLt ereir. Urgsrer whg i Qasearagsy allsrev GuirmearTealsT wpdbdlw
) e Gt @BTdhaLD 6TedTedT?
D) S STHWITET 2_LITGHWImiis Symiblesr
Qeeragéour Guirsem A) @)bglwrallsy o_siror emesrdgl oF B EmHds @D
et @)smewtiiL) yeflliLig)
B) @bl wprpeugid o sirer Geusmevuilsvsvm
B ewereh i Ends @ CousweveuriiliL) SyeflliLig)
C) BEVEV QUTLPEHNSE HTHeWS 6TDLI(H bS5
O meirar, 9|F)% eTevsTenildhen s ullevreT ()bl
(3)WeTEhTHEHSH G CSTHDFTEN6Y GC\HTL_TLITET
Slmesr Gobur® uuilhAsow Cup suifleuens
CFiieug)
D) BTmI F56f510 FmbsCleuef] eVl H1&HTS
@bSlwirenet 2_(Heums @Heagl
Test 20. Question no 136
19. The institution of Lok-Ayukta was Consider the following regarding the

estabished first in the state of

A) Gujarat B) Maharashtra
C) Rajasthan D) Kerala
Ceord-uSST (560 PSeDsD 6T T BleVS 560

SIOLEHLILIL L 5P

A) GRS B) D& TTTeGL_ [T

establishment of Lok Ayuktas and

choose the correct answer using the

codes given below:

I) LokAyukta was established first in
Maharashtra in 1971

[I) Odisha had passed the Act in this
regard in 1970, it came into force only




C) TITE6VVG T6dT D) Gaxsrerm

in 1983.
Codes:
A) T only
C) Both I and II

Test 13 question no 105

B) I only
D) Neither I nor II

20. Who said “The Directive Principle of | Which is the novel feature of the
State Policy is a Novel feature” of the | Constitution?
Indian constitution? A) Fundamental rights
B) Fundamental Duties
A) K.T. Shah C) Directive Principles
B) B.R. Ambedkar D) Preamble
C) Aladi Krishnaswamy Ayyar
D) B.N. Rao Explanation:
BhFlw SrAweeoiilsd "ore auflsr G % According to B.R.Ambedkar, The
Cpplupsops CaTetews @i o sTargTeT LswIL " Directive Principles of State Policy is a
TSI g lwig) wiTii novel feature of the Indian
A) K.T aeved Constitution.
B) B.R. spioGusai Test 9. Question 104
C) 9p6VLg B (HEIGeNTFTLO Syl
D) B.N. el
21. The idea of concurrent list was Match the following:
borrowed from (SLISt'I ) (F{“s:'n
. o ources eatures
A) BI‘ltISh. Constltu‘Flon. borrowed)
B) Canadian Constitution a) French Constitution 1) Procedure by law
C) Irish Constitution b) ganadian - 1
tituti t list
D) Australian Constitution 0 Agrsltsr;lli;;lon ) Concurrent lis
Constitution 3) Strong Centre
d) Japanese
QUITEICILIC 19 16D sTeRID &HH51 QUDLILL L G). Constitution 4) Republic
A) @ miglevrpglsr o riwsvsnioliedBHBHsI Codes: b d
a c
B) SeTL_TalleT 3 rdflusvenoliLiled)mbag A) 4 3 2 1
C) S WITeVTHF T o TrFwevenoliledrpbsg) B) 2 3 1 4
D) oysvgfiGowrals Cc) 1 4 2 Z)
Srdwssioliiledmbs) D) 3 2 1 4
Explanation: A
% French Constitution - Republic
% Canadian Constitution -Strong Centre
% Australian Constitution - Concurrent
list
% Japanese Constitution - Procedure by
law
Test 9. Question no 149
22. What is the aim of Pradhan Mantri Which among the following are the




Gram-Sadak Yojana?
A) Provide all weather road
connectivity

B) Provide all weather to Tele
communication connectivity

C) Provide Food Security in all
seasons

D) Provide Education to all people

"MNrsw whSlf Srrw FLrd Curgerr” Sl L ggler
Cpréaid (GM&ECars) 6151?

A) |EWETEU (H LD |EWEITHF| LI(THEU & T VM6 &) LD
FTED6V UFSHEDOT WL EH6V

B) QBTMVOSTLTL| UFFHEHET HeWEBTHEI LI(h6u~

HTEVUBIS EVh & LD 6TMLI 9J6WLDSFH6V

C) SDRTH G| LI(HoUSHTVBIGONGYID 2_60Tey LITEISBTLIL] -

O Fiiig6v

D) 6TeVBVT (H & LD Hevall euFd) erHUT(h ClFIgsD

components of Bharat Nirman launched
for providing basic amenities in rural
areas?

L. Rural housing

II. Drinking Water

I1I. Rural roads
IV. Rural Telephony
Codes:

A) I, II and III only
B) II, III and IV only
C) I, IIl and IV only

D) All the above
Srrwiiymn UGSlSHeflsy Sl UFSIHET euphIGLLD LTTSH
Bl meT S 1L gFleiT o misnIGamer G5 H6)%[H%S% e LD

I. oarys of (B susFs
II. GBI uFH)
I1I. DMT L FTEMHEV GUFI]

IV. oarys ClFTeweVELIF @)ewewrLiL
GPIuf B ssir:
A) I, IT wpmio 1T o @id

B) II, I wpmiio IV wi_@io

C) I, I wpmip IV wr_@io

D) Gumsenri_ oyeverdaiin

Explanation:

Bharat Nirman is an Indian business
plan for creating and augmenting

basic rural infrastructure.

It comprises projects on irrigation, roads
(PradhanMantri Gram Sadak Yojana),
housing (Indira Awaas Yojana), water supply
(National Rural Drinking Water
Programme), electrification (Rajiv Gandhi
GrameenVidyutikaran Yojana) and
telecommunication connectivity.

Test 15 question 190

23.

When was the “Industrial Finance
Corporation of India” established in
India?

A) January 1, 1950

B) July 1, 1948

C) June 5, 1951

D) May 1, 1950

Match the following:

List-I List-II
(Bank) (Founded Year)
a)IFCI 1. 1955
b)SBI 2. 1964
c)IDBI 3. 1948
d)EXIM Bank 4. 1982



https://en.wikipedia.org/wiki/India
https://en.wikipedia.org/wiki/Rural
https://en.wikipedia.org/wiki/Irrigation
https://en.wikipedia.org/wiki/Pradhan_Mantri_Gram_Sadak_Yojana
https://en.wikipedia.org/wiki/Indira_Awaas_Yojana

" @l Qpmifls BFsaysin’ @bilurais
sTUGILITWE) THUGSSILILL &P

A) eevTeuif] ]., 1950

B) oo 1, 1948

C) soer 5, 1951

D) @vn 1, 1950

Codes:

a b c d
A) 4 3 2 1
B) 3 2 4 1
3 1 2 4
D)2 3 4 1
utiqued - I, uiquiey - I o 1 st Qur@ssis.
i iguwied - I L iguwisd — 11
(GYLIEET) (2_(meurssr 2y 651(H)
a)IFCI 1. 1955
b)SBI 2. 1964
c) IDBI 3.1948
A)EXIM aish 4.1982
@MuTBs6i:

a b c d
A 4 3 2 1
B) 3 2 4 1
c 3 1 2 4
D) 2 3 4 1

Test 28 question no 118

24.

Identify the mismatch:

A)White revolution - Milk
B)Green revolution - Foodgrains
C) Blue revolution - Fish

D)Yellow revolution - Flowers

SUDTEH QLT HSHHMHdH HewT(HLillg %6 LD
A)@suafzfrsmw Y& - umey

B)ua’rmw Y g
)B0 Ly
)w@&sﬁ Y g

- 2 _ewiey Hresfluib
C - Ber
D

- LSEHeT

Who was called the father of Silver
Revolution in India?

A) M.S. Swaminathan

B) Indira Gandhi

C) Durgesh Patel

D) Vishal Tiwari

@)bFlurailst Geusiteflls Lyr Auilest shewg stedTmy
O®LY&HSLILIBHLIeUT wri?

A) 6TLD.6T6VV. Gr6umLOlBT 60T

B) @igirr srpa

C) &ITCHe LGL 60

D) aflagrsd gaurf

Explanation:
<> Father of Silver Revolution- Egg-
Indira Gandhi

o5 Father of Red revolution- Meat and
Tomato- Vishal Tiwari
X Father of Pink revolution- Onion,

Prawn, Pharmaceuticals, Modernising of
meat and poultry Processing- Durgesh
Patel

< Father of Green revolution- Food
grains- M.S. Swaminathan




Which among the following is not
involved in Tricolour Revolution proposed
by Prime Minister Narendra Modi?

A) Saffron Energy Revolution

B) Blue Revolution

C) White Revolution

D) Red Revolution

Fipsamenr_supmist Nrgwi EErbHr Cumiy peTemeaidhs
eypeuriewnt Yl Fullsy @)svevTsg! 61317

A) srafl gyppsd Ly 4

B) BHeoLt Y4

C) QeueiTeniols L&

D) @swewwrs g4

Explanation:

PM Modi's Tricolour Revolution
Second Green Revolution - Protein
Rich Pulses

White Revolution - Cattle Welfare
Blue Revolution - for fishermen's
Welfare and Clean water

<> Saffron Revolution - Solar Energy
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Test 14 question no 24 and 68

National Agricultural Policy aims at a | Which five-year plan had the highest

growth rate of % per year. | growth rate in agriculture?
A) 3% A) Eighth five-year plan

B) 4% B) Fifth five-year plan

C) 6% C) Eleventh five-year plan
D) 8% D) Ninth five-year plan

Th WHSTHTHG S LSS0 Eip BTL 1g 60T GouemTedrgienm

CapAw Couarret G&TeTens W TETS DT ([HS S suariiédl allfsid e il sjerallsd B)Bb5S?

#3568 euenidfenw CphrHsLoTds A) et reug) phsTamGE S ih
Qs TaT @S, B) mpsrais mbsren®s S i
A) 3% C) USCSTTETDTeUGI 0hSTewnT(hd HILL LD
B) 4% D) gsrugrais phsran@s Sl
C) 6%
0
D) 8% Explanation:

Eleventh five year plan (2007-12) set a
sectoral target of doubling agricultural
growth to 4 % per year for enhancing
agriculture production and productivity
in the country and increasing the income




of farming community.

Test 14 question no 23

26. Which currency is recently added in | Which among the following basket of
the currency basket of IMF? currencies forms the average for Special
A) Japanese Yen Drawir'ﬁ Rights? .

. i)Japanese Yen
B) Chl.nese Yuan ii) UK Pound Sterling
C) Indian Rupee iii) US Dollar
D) Brazalian Dollar iv) German Marc
eTHBTL_(B Brewrwid FifLbge0 IMF-6r Brewrwids Codes:
FnemLuiled GFidsasliuLg)? A) i, iii and iv only
A) giumefisT Quisir B) i, ii and iii only
B) evserraisr ujeursit C) ii, iii and iv only
C) @pAw muris D) All the above
D) NBrAeSlwiesr Lmevrir Explanation:

e The SDR is an international
reserve asset, created by the IMF
in 1969 to supplement its member
countries’ official reserves.

e SDRs can be exchanged for freely
usable currencies.

e The value of the SDR is based on a
basket of five major currencies—
the US dollar, the euro, the
Chinese renminbi (RMB), the
Japanese yen, and the British
pound sterling.

Test 17 question no 41
27. The Constituent Assembly of India Choose the correct answer regarding
was set up according to the proposals golnstituent Assembly using the codes given
elow:
of : I) Cabinet mission plan was sent to India in
A) The Cripps Mission 1946
B) The Cabinet Mission Plan II) The mission accepted the idea of two
C) The Mountbatten Plan con§tituent assemblies for India and
D) The Nehru Plan el sk
@)bglw S rFuieVen ol BTewnT FewLl WiT(HevL i Codes:
wperEwTflaisT g litienL_ulled sHUBSSLIILIL L g7 A) I Ol’lly
A) Aiflcisv flagsir B) I only
B) Ga Ul flagesr 'L _ib C) Both I and II
C)f . G n it s D) Neither I nor II
D) Cm(m Sl_L_Ib
Test 9 question no 62
28. Which one is not part of the | Which among the following is a function

Panchayat Raj?

based Urban Government rather than




A) Smiti

B) Village

C) Township

D) Zila Parishad

SThS PSTYI LIEHFTWS TTRWSSD G)svewev?
A) F g

B) Slrmiotb

C) pafuib

D) sfsvsor ufsrs

Area based?

A) Cantonment Board

B) Township

C) Port Trust

D) Special Purpose Agency

Uilsitou meussteuHmisit Lig g FTihd T FTBISLOTS 6V6VTLOGV
CFwsOLIT®) Frihs TFTHRISLTS CFWOLIBeUS] 6TSH]?
A) @rremion s @oium @ surifluib

B) Basflwid

C) simpys opési L mer

D) Apliy Crréas BlmisueTid

Test 10 question no 39

29. Which part of the Indian Constitution Choose the correct answer regarding
deals with Fundamental Duties? Fundamental Duties using the codes
A) Part II given below:

B) Part III I) Fundamental Duties were added to the
C) Part IV-A Constitution by 42nd Amendment Act
D) Part V 1976
Qpgu Srdweeiiie oliuame s sLmwsar erhs  [[) 86th Constitutional Amendment Act of
uGSuild TGbsIrssiL erars:? 2002 added a Fundamental duty
A) uras 11 Codes:
B) ursio 111 A) I only
C) urasn IV-A B) II only
D) ursi V C) Both I and II
D) neither I nor II
Explanation:
¢ 42nd Constitutional Amendment
Act in 1976 added a new part,
namely, Part IVA to the
Constitution. This new part
consists of only one Article, that is,
Article 51A, specified a code of ten
fundamental duties of the citizens.
¢ To provide opportunities for
education to his child or ward
between the age of six and fourteen
years. The 86th Constitutional
Amendment Act, 2002, added this
duty.
Test 9 — Question no 20
30. NREGA gives guaranteed employment | Consider the following

for :

regardingMGNREGA and choose the




A) 50 days

B) 100 days
C) 150 days
D) 200 days

Cadlw 2arygs Gousmev sumiiliL)g $l L 1b (NREGA) ,

Gousmev 2_sglreursid oyeflds @ Bl gsefls
6T650T 63011456 5

A) 50 BTL_S6T

B) 100 BTL_S6T

C) 150 BTL_S6T

D) 200 BTL_&6T

correct answer using the codes given
below:

[. The aim of MGNREGA is to create
durable assets.

II. The act mandates half of the
participation by women.

Codes:

A) T only

B) II only

C) Both I and II

D) Neither I nor II

WaTHWT HThd CHAw 2arys CeusneveuriiliL) 2 miglwefliiy
S @MSg FC CETHIGSLILIL (H6Tem eumddwisigeilsv
Fflwrersuhenm Csihols(Hda%s ey L.

I. wargwr Tzl Cadlw 2oy Geusmev sumriiliL]

o miFlwellliy S L sHletr ChTHs Blgss CFTSFGIHHem6rT
2_(HEUTSE6USHT (S LD

II. @S L gglev LmGsnuLeuisefley Fflurg GlussTEHeTTS
®)(hdba CeussT(HILD 6T65TMI Ul MISHHIH MG

@MU B S6iT:

A) I i (pid

B) II wi_ (@i

C) @rewr(®id
D) @)resst(idlsvemnsv

Explanation:
% MGNREGA is an Indian labour
law and social securitymeasure that
aims to guarantee the 'right to work'.
% It aims to enhance livelihood
security in rural areas by providing
at least 100 days of wage
employment in a financial year to
every household whose adult
members volunteer to do unskilled
manual work
% The largest and most ambitious
social security and public works
programme in the world
% Another aim of MGNREGA is to
create durable assets (such as
roads, canals, ponds, wells).

Test 15 question no 189



https://en.wikipedia.org/wiki/Indian_labour_law
https://en.wikipedia.org/wiki/Indian_labour_law
https://en.wikipedia.org/wiki/Social_security
https://en.wikipedia.org/wiki/Right_to_work




